" Knock-Knock. Wha's there? Boo. Boo who? Don't ory it's only a joke!

Name: ‘ Date:

Math Challenge  Algebisc Shand. 4.4 A |

Complete the Activity.

£y - Sixless than a number is 2. Find the number,

(2 A number increased by eight is 12, and the number,

) Two more than a number is 8. What is the number?

) A number diminished by 2 is 5. Find the number.
O | Five less than a number is 5. Find the number.

e A number increased by nihe is 17. Find the number.,

T Nine more thah a number is 14. What is the number?

& ' A number decreased by 5 is 5. Find the number.

Nine less than a number is 6. Find the number.

A number increased by four is 8. Find the number.
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